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l.  ODE: y"(1)—y'(t)=2y(t)=t, @K y.(t)(complementary solution) (b)3K
v, (t)( particular solution) (c) EHEIEHRIT: p(0) =2,y'(0) =0 KITEERE
y(t)=y () +y,) %)

N - 3 . \/— N ,

).z = re skwwz =i (1—i)(=2+/3 + 2i) sirErr, £ .(10%)
i =~-1,r=|7]

O=r
3 (a)Evaluate j sin’6cos” 8dO (b)Evaluate j te*dt ,s>0
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(¢)Evaluate \7(3(2 + y2 +2z%) (25%)

4.(a) Find the eigenvalues and eigenvectors of the following matrix.

10 —18Y) , , , 10 —18 |
( j (b) Find the inverse matrix of (6 ]1] (15%)

6 Il

S, a==yi+xj (kK] = gf,a P RSt (B + y* = 9) BEIR()K V X d (15%)

6.(a) =57 Fourier transform Eid Fourier series 7+ F& FH _EHYZE Rl

(b) f(A) = Z Oo(x —2m), m = integer ,f (x) -—0~ Z cos 27mx +ZB sin%@
n=1 4

mz=:=. n=|

}R d’ A() > An and BH (15%)




